
 2006

•  54 

•  4 

 (1)

• 8  10 

•  1  2

 (2)

• 4  5 

•  2  4

• 4 

3 

•  3  5

• 36 • 18 

2 1  30 

2
3
1
3

60%

33 [ (1)]

33  [ (2)]

33  [ ]

40%
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1996 1997 1998 1999 2000 2001 2002 2003 2004

12 10a 7 17a 10b 8, 14b 6b 5 3

13a / 12 6 8 13a 11a 10a 10a

1, 4 1 5,9 2, 15b 1,6 2,6 4 1, 3 2, 6

2 2, 3, 10b 4 1 2 1 1 4 1

/ 13 / 7 / 13c / / 4

4, 13a,
13b, 13c

8 / 15b 10a 13b, 16a / 6 7

5, 9b, 9c 4 18 3, 17b(ii) 5, 15 4, 15a,
15b(i)

17, 17b 2, 10b 10b

15,17b,
17c

6, 12a(i) 3, 17 4, 9a, 18 4, 17 9, 16b
17a(ii)

3, 14 9, 14,
15a(ii)

5, 17

3 15 13 17b(i) 14 12a,
12b(ii)

13b, 13c 7, 15b(ii) 15

7a, 8,
16a

5c, 7a,
12a(ii)
12b(i),
(ii), (iii)

1, 16a 9b, 13 3, 18a,
18b(i),

(ii)

3, 9,
12b(i),

16a

2, 6a,
11b, 13a,

15a(i),
15b

13,
15(a)(i)

9, 12b(ii)

10 2, 6, 14 14 13 11 10 8,
15a(iii),
15b(i)

12a,
12b(i)

6 9, 16a 6, 14 5, 16a,
16b(iii)

7, 16a,
16b(i)

5, 17b 9, 16a 17a 16a, 16b,
16c(i)

9a, 11 16b 8, 15 10,
16b(i),

(ii)

9, 16b(ii) 7, 17a(i) 8, 16b,
17a

12, 17b 13, 14a,
14c,

16c(ii)

7b 14 11 12 12 15b(ii) 12c 16 8

14 11 10 8, 11 11 10 5, 12a,
12b

11 11

vi

2005

6, 16a(i),
(ii)

5, 10a

1, 3, 10b

2, 16b

/

/

4

14

7,
16a(iii)

9, 12,
13c

8, 17a(ii)

17a(i),
17b(ii)

13a,
13b,

17b(ii)

11, 15c

15a, 15b
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1.

•

•

•

•

2.

• v

•
HB

HB

•

•

3.

•

•

•

•

•

•

1.

•

1 30 3 – 4 

2 40 8 – 10

45 15

•

•
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(a)
 = 2(a + b)
 = ab

(b)
= 4a
 = a2

(c)
 = a + b + c

 = 
1
2

bh

 = 
1
2

ab sinθ

 = − − −s s a s b s c( )( )( )   s
a b c

=
+ +

2
 ( )

(d)
 = 2(a + b)
 = bh

a

b

11.1

a

a

11.2

ca

b

h

θ

11.3

a

b

h

 11.4
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4. θ = φ  AB = BC (  AB = BC) ( )
AB = BC (  AB = BC) θ = φ ( )

5. AB : CD = θ : φ  ( )

CB
D

A

θ
φ

13.15

13.16  AB : BC : AC = 1 : 2 : 1  ∠BAC
A

B
C

13.16

 AB : BC : AC = 1 : 2 : 1
∴ ∠BCA : ∠BAC : ∠ABC = 1 : 2 : 1 ( )

 180°

∴ ∠ = ° ×
+ +

= °

BAC 180
2

1 2 1

90

 ABCD 
(i) ∠BAD + ∠BCD = 180°  ∠ADC + ∠ABC = 180° (  )
(ii) ∠DCE = ∠BAD (  )

 13.14

AB : CD ≠ θ : φ

 X : Y : Z = a : b : c 

X + Y + Z = P  

  
X

a
a b c

P=
+ +

×  ;

  
Y

b
a b c

P=
+ +

×  ;

  
Z

c
a b c

P=
+ +

×

 13.17

φθ

A

B

C

D
A

CB E
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(1)
1.  A(5, −1)  B(−2, 6)

(a) A B

(b) A  B
3
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AB = − − + − −

= + −

=

( ( )) ( )

( )

5 2 1 6

7 7
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7. (a) 100 599 100 599 6

(b) 100 599 100 599 6
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a = 102 d = 6 = 594 1M
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*

*

(1)
1. 4 9 13 19 19 21  27

2. 0.9 1.2 1.5 0.5 0.3 1.5

3.  5 y 25 

(a) y

(b)

4. 4.5 a 2 

(a) a

(b)

(c)

5.  4 5 6 7 9  11

6.  3.1 8.5 10.3 13.5 17.9 21.4 25.2  29.8

7. 5 25 6 7 ·£¥ 1

8. a 5 7 b 13 18 9
9.5 a b

9.  2 8 12 16 20 x  y  11  
  

202
7

 xy  ·£¥ 2

10.  x x x + 2 x − 3 x + 5  x − 7
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 (1)

1. P( )

= P (2  4)

=

=

2

6
1

3

2. (a) P( )

=

=

81

300
27

100

(b) P( )

=

=

219

300
73

100

3. (a) P(5) =

=

32

400
2

25

(b) P( ) =
+ +

=

70 56 32

400
79

200

(c) P(  3) =
+

=

70 53

400
123

400

4.  24 

(a) P(0) =

=

4

24
1

6

(b) P(2) =

=

6

24
1

4

(c) P(6) = 0

(d) P(  3) =

=

3

24
1

8

5. (a) P( ) =
3

7

(b) (i)  42 

(ii) P( ) =

=

30

42
5

7

 

P( )

= P( ) P( ) +

P( ) P( ) +

P( )

= ×




+ ×




+ ×





=

3

7

4

6

4

7

3

6

3

7

2

6

5

7

2
1 2 3 4

1

1 0 1 2 3

2 1 0 1 2

3 2 1 0 1

4 3 2 1 0

5 4 3 2 1

6 5 4 3 2

1 2 3 4 5 6 7

1 × 2 3 4 5 6 7

2 2 × 6 8 10 12 14

3 3 6 × 12 15 18 21

4 4 8 12 × 20 24 28

5 5 10 15 20 × 30 35

6 6 12 18 24 30 × 42

7 7 14 21 28 35 42 ×


